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General Instructions:

1. The question paper consists of 50 multiple choice questions divided into 3 sections A,
B and C.
2. Section A comprises of 20 questions. Any 16 are to be attempted.

@

Section B comprises of 20 questions. Any 16 are to be attempted.

i

Section C comprises of 10 questions based on two case studies. Attempt Any 8
questions.

Each question carries 1 mark.

Each question has 4 choices, you have to select any one of them.

There is no negative marking.

® N oG

Use of calculators is not permitted.
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SECTION - A

s 37 H Fel 20 U §, S & gl 16 URal Y gl el g

Section A comprises of 20 questions. Any 16 are to be attempted.

9. 4.

Q. No.

Marks

ar aRAT a3t & &7
(a) hael Th IRAT TEAT gidr ¢ |
(b) 3TARFAT T & 3ieh INAT TEIW gt & |
(c) 3eieh 3ARNAT FEIT gl ¢ |
(d) Shaer 3ARAT FE&IT g ¢ |

In between two rational numbers there is /are :
(a) Exactly one rational number.
(b) Infinitely many rational numbers.
(c) many irrational numbers.
(d) only irrational number.

e & @ Fier dr g&ar x? & W §7?
Which of the followings is equal to x? ?

WMy = 3x W &ud #1g o foig 5@ YR &0 gam
Any point on the line y = 3x is of the form:

(@) (a 3a)

(b) (32 a)

© @3

@ € -a)

Ifg ar fdg3 P 3k Q & fadersr (2, -3) 31X (-6, 5) & o (P & 1) - (Q
I 3ST) T A

If the coordinates of two points P and Q are (2, -3) and (-6, 5), then the value of
(abscissa of P) - (‘abscissa of Q) is:

(@) 2

(b) -6
() 8
(d) -8




gie el foig & et fadens #omeas €, o ag fdg glm:
(@) UgelT Tcqrer
(b) GERT T
(c) cERT Tqer
(d) =t Tt

If both the coordinates of a point are negative, then that point will lie in:
(a) First quadrant
(b) Second quadrant
(c) Third quadrant
(d) Fourth quadrant

diel AR WV Teh gaEl &l gfaese & 8
(a) ar g3t W
(b) e Rigat w
(c) U& foig W
(d) e off foig oX =Tet

Three parallel lines intersect at :
(@) Two points
(b) Three points
(c) One point
(d) No point of intersection

et 7 @ &l @ deT v IIRAT 82
Which of the followings is irrational ?

(@) 0.14

(b) 0 - 1416

(c) 0.4014001400014.....

(d) 0.14 16

ar IuT fSeTeht AT 180° @Y ¥, 98 Feeld &:
(a) eNTfdEE whror
(b) TR 0T
(C) 3THesT SHIUT
(d) EH HioT

Two angles whose sum is equal to 180° are called:
(a) vertically opposite angle
(b) complementary angle
(c) adjacent angle
(d) supplementary angle




x 3Ry # frder 3@ Flaor x = 1 3Ry = 2 § G & Fhol 872
(@) shde Th
(b) ar
(c) 3w
(d) T

How many linear equation in x and y can be satisfied by x =1 and y = 2?
(a) only one
(b) two
(c) infinitely many
(d) three

10.

Ife AB= QR, BC = PR 3R CA = PQ §, ar:
If AB= QR, BC = PR and CA = PQ, then:

(a) AABC = APQR

(b) ACAB = APRQ

() ABAC = ARQP

(d) ABCA = APQR

11.

Teh THIST TSRt o3l T ofarg sheaer: 20 cm,15 cm 3R 9 cm &, 3@ 3
gRATT FT grem?

The semi perimeter of a triangle having the length of its sides as 20 cm,15 cm and 9
cm is:
(@) 44 cm
(b) 21 cm
(c) 22 cm
(d) 36 cm

12,

U HEfaaTg s Sl 9cde s ofeT i Seg 13 cm 3R 3MUR 24 cm
g, 3T SF%d g

The area of an isosceles triangle each of whose equal sides is 13 cm and whose base is
24 cm is:

(@) 45cm?

(b) 48 cm?

(c) 60 cm?

(d) 75 cm?

13.

AABC #, AB = AC 3Rk «B = 50° & o 2C s_eT &

In AABC, AB = AC and £B = 500. Then 2£C is equal to:
(a) 400




14.

STe & HYTeh IV T AR 40° &1, a8 d HIo7 ghan:

If the difference between two supplementary angles is 40°, then the angles are:
(a) 140°, 40°

(b) 110°,70°

(c) 80°, 100°

(d) 65° 115°

15.

IRARAT §eod | 91T qdd 3@ § & s T 9iss 5 § 3R Ferae g9 & e
FT-&AHAT 10 &1 3Tuad T i e - g

The width of each of five continuous classes in a frequency distribution is 5 and the

lower class-limit of the lowest class is 10. The lower class-limit of the highest class is:
(@) 15

(b) 35

(c) 30

(d) 40

16.

T TSR W T st T oarS shaer: 51 m, 37 m, 3R 20 m g1 58 @a
#r T 3 ufa m? X A AT A FT WA &

The cost of levelling a triangular field having sides 51 m, 37 m, and 20 m at the rate
of X 3 per m2is:

(a) 306

(b) 1918

(c) 725

(d) 900

17.

3R Teh Wk FIHA &1 Teh HI0T, 7T HIOT 8 AT GET HI0T AT
(a) HHNIUT
(b) =& =ProT
(c) 31T T
(d) S HIoT

If one angle of a linear pair is acute then the other angle will be:
(a) rightangle
(b) acute angle
(c) obtuse angle
(d) straight angle

18.

APQR #, /R = 4P, QR = 4 cm 3R PR = 5 cm &, d PQ & o+T3 &:

In APQR, 2R = £P, QR =4 cm and PR =5 cm. then the length of PQ is:
(@) 4 cm




19.

Ife weh T3egs T $fsmait &Y [T X fer Sirw, df 3EehT aTather:
(a) HAWT M|
(b) &Y IT g S|
(c) T T[T g1 STeaT|
(d) IR [T & S|

If the sides of a triangle are doubled, then its area :
(@) Remains the same
(b) Becomes double
(c) Becomes three times
(d) Becomes four times

20.

et 3MTepsl & AT Uah g1 IdTaT & §F & 250-270 (3 IRl & 270 nfAaT
sTgl) T 39INT ad U T 3TN & I Al & {1 Teh HHEIFHA TRIRCAT

c
drferehr & foi#ToT foham aram &
A grouped frequency table with class intervals of equal sizes using 250-270 (270 not

included in this interval) as one of the class interval is constructed for the following
data:

268, 220, 368, 258, 242, 310, 272, 342, 310, 290, 300, 320, 319, 304,402, 318, 406, 292, 354,
278, 210, 240, 330, 316, 406, 215, 258, 236

g1 370-390 & TRERAT g

The frequency of the class 370-390 is:

s -9
SECTION - B

s § & Hel 20 U ¢, A A gl 16 Y&l Y gl HTer g

Section B comprises of 20 questions. Any 16 are to be attempted.

21.

ag g St y-31eT oY y-3787 1 HUTcA® Gem & 10 g &1 gl W Bud &

The point which lies on y-axis at a distance of 10 units in the negative direction of y-
axis is:
(a) (10,0)
(b) (0,10)
(©) (-10,0)
(d) (0, -10)




22.

&r 718 i A, AB Il CD &, x 3R y & & A1 Hifa|
In the given figure, AB 1l CD, find the value of x and y.

(@) 120°, 60° )

(b) 100°, 120° k
(

(

¢) 60°, 60°
d) 60°,100° 120“\\

v

v

-

23. |7 foog ¥ I[oeT arell Y@M H HHAGOT &
Equation of a line passing through origin is:
(@ x+y=1
(b) x=2y -4
(€) x+y=0
(d) y=x-1
24 | & 1§ 3Pfa A, AABC &1 3T BC &t fdg D d& Feram arm gl afg A = 3y°,
«B = x° 2ACB = 5y° 3R 2CBD = 7y° &, a x &I A= &:
In the given figure, side BC of AABC has been produced to a point D. If ZA = 3y?,
2B =x9, £ACB = 5y? and 2£CBD = 7y?, then the value of x is:
i
D
(@) 60
(b) 50
(c) 45
(d) 30
25.

& 1S IFfA A, 4x F A AT AT

In the given figure, find the value of 4x.

4x
3x 3x

v




26.

I@F FHRIOT x+2y = 2 FT ATel@, y-378T I 07T W HIedr g
The graph of linear equation x+2y = 2, cuts the y-axis at:

(@) (20)

(b) (0.2)

(© (O1)

(d) @)

27.

fadener 3787 & 9T & HIUT FHT AT B

The measure of the angle between the coordinate axes is :
(a) O°

b) 900

c) 1800

(
(
(d) 2700

28.

g7 Teh FHeYT &1 ITUR 12 cm 3R Fu1$ 8 cm &, dr T &1 &9%d &
The base of a triangle is 12 cm and height is 8 cm, then area of the triangle is:
(a) 48 cm?
(b) 24 cm?
(c) 96 cm?
(d) 56 cm?

29.

AT y = 5, & T #, 36 YHR @l o el ¢
The equation y = 5, in two variables, can be written as:
(@1lx+1ly=5
(b) 0.x+0.y=5
() 1x+0.y=5
(d) 0x+1.y=5

30.

AT A miing dy & AT E
In the given figure, m Il n, then the value of y is: Y 25“

b) 35° 60°

n

31.

Rt 3eceT & foT A & 718 Ty & FIg T Far AT g
(a) AT
(b) eI

(c) sgor
(d) 3iTs

The collection of information, collected for a purpose is called:
(@) Mean
(b) Median
(c) Mode
(d) Data




32.

gfe Tl et & ar <Nt & woag@ o3l o & Mo T &, ar B &

(a) HHSTE
(b) TG

(c) TavHeTE

(d) FHRITT
If the altitudes from two vertices of a triangle to the opposite sides are equal, then the
triangle is:

(a) equilateral

b) isosceles
c) scalene

(
(
(d) right angled

33.

X = 5 & 3Tol@ Teh W@ &
(a) # T&ig & 5 gehrS &I g W x-318T & HATACH
(b) Het foig @ 5 FhS T g W y-31aT & FAEIH
(c) x-37&T W 3d: WS 5 AT
(d) y-318T WX 3d:@8 5 SeIlar

The graph of x =5 is a line:
(a) Parallel to x-axis at a distance 5 units from the origin
b) Parallel to y-axis at a distance 5 units from the origin

(
(c) Making an intercept 5 on the x-axis
(d) Making an intercept 5 on the y-axis

34.

T ST # &Ahe 150 cm? 3R 3Tk N3 H e 3:4:5 g ST v
aRATT FAT g ?

The area of a triangle is 150 cm? and its sides are in the ratio 3:4:5 . What is its
perimeter?

(@ 10 cm

(b) 30 cm

(c) 45cm

(d) 60 cm

35.

afe APQR = AEFD g, df £E SN &:
(a) £P
(b) 2Q
(c) «R
(d) 51 @ FI$ el
If APQR = AEFD, then 2E is equal to:
(a) £P
(b) 2Q
(c) «R
(d) None of these




36.

AABC #T #=mi3it BC, CA 3R AB & #ex-fig &aer: D, E 3R F §| a9 ADEF,

Ber & waeEA gl
D, E and F are the mid-points of the sides BC, CA and AB respectively of AABC. Then
ADEF is congruent to triangle
(a) ABC
b) AEF
c) BFD, CDE

(
(
(d) AFE, BFD, CDE

37.

U HASTE YT 1 IRAT 60 m &1 FegsT &1 & &
The perimeter of an equilateral triangle is 60 m. The area of triangle is:
(a) 10v/3 m2
(b) 153 m?
(€) 20v/3 m?2
(d) 100v/3 m2

38.

U FAGASTg S, SHEAr aFmher 12 cm? § R A S A3 H F T

5 cm g, & 3R &:
The base of an isosceles triangle, whose area is 12 cm? and one of its equal sides is 5
cm, is:
(@ 6cm
(b) 10cm
() 7cm
(d) 9cm

39.

y = 7 &I 3ol U Tl JGT &
(a) arar 376 @ ufaede T
(b) y-378T & FAAR
(c) x-318T & FAATR
(0) T g & T

The graph of y = 7 is a straight line:
(a) Intersecting both the axes
(b) parallel to y-axis
(c) parallel to x-axis
(d) Passing through the origin

40.

y-376T & foig (-7, 2) & o g (35 #) &

The perpendicular distance (in units) of the point (-7, 2) from y-axis is:
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SECTION -C

hE TN W ITURT T
Case Study based Questions

WS H # g T W IR Fol 10 9 §, [S1at @ gl 8 weall 1 gor e
gl

Section C comprises of 10 questions. Any 8 are to be attempted.

&9 T3 - |
HeT IX Fr T FaT F gEdfas TEITIT W TR U QAT Hars 1w gl
=g afafafd & 3iaea g+ faeardt &l v FIE 33T §, Tcdsh HE W Th U
forar g3m g1 dger g faeznfiat ganr 3o v FEf | gu yeat @ o

fear I §1 39 31 Uesr & fov A8y [adeq &1 aae Hifav|

Case Study - I
In a classroom of class IX an activity on real numbers is done with the students. A

student has to pick a card and has to answer the question written on it. The cards
picked up by first 5 students and their questions written on it are given below. Find
its correct option / answer.

41.

V10 & a9 # il A1 HUT T &7
(a) IE T WTehiceh HEAT g
(b) Ig TH IURAT FEAT gl
(c) T8 Th IRAT TEAT g
(d) o1 & IS LTI
Which of the followings is true about v/10 ?
(@) It is a natural number
(b) It is an irrational number

(c) It is a rational number
(d) None of these

42,

e & @ #la @ g v I3ARAT AL 7 ?
Which of the followings is not irrational ?

(a) 15 + 36

(b) V23 -6

(c) 3v120

(d) 4+5+36

43.

Th TEaT ¢

Rlis

(a) repd
(b) qot

(c) aR&T
(d) 3aRaT




1 .
— isa/an number.

V3

(a) natural
(b) whole

(c) rational
(d) irrational

“. | 9" F FE AT & T % Th AT 3TEdT GerHed & ?
For which value of “p” , 232i_lpz is a non terminating recurring decimals ?
(@) 5
(b) 7
(c) 10
(d)2
45.

(256)016 x (256)%9° & AT &:
The value of (256)%16 x (256)%%9 is:

&u = -l
ool & Tareed 3R IRaR HeaTvr S@eTe 1S @Ry U AV 31y ot 7 Faey
QNN I HEAT & A H Ueh TALY HI&TOT fohar aram 7| Ueh fa9w &iF & fov
faffie=T 3mg Tagh S/ 10 - 20, 20 - 30, 30 - 40, ... 3R W RE & fow vy
fohT a7 Ser 1 <3 IO & w9 A feIT T B kst A eAETYGH ufev 3R

eI @d weall & 3 qifSie-

Case Study - 11
A Healthcare survey regarding number of healthy people in a particular age group,
was done by the Health and Family Welfare Care Board of Delhi. The data collected
for different age groups such as 10 - 20, 20 - 30, 30 - 40, ..... and so on, for a particular
area, is given below in the form of a bar graph. Read the data carefully and answer
the following questions -

1600
) =
1600
1400
1400 (T a0,
T 1200
1200 ] 1100
A 3§60
@ P —
2 4000
Q.
Qo
2
2 s00
o
ZD 600
400
200
s g g i 7 g i L
0-10 10-20 20-30 30-40 40-50 50-60 60-70

Age groups




46.

FIY A Y T & AFIT T HEAT w1 FaF 3D 3G T & ol HT FE&dqr Hr
forcretr gfaera grem?

What will be the percentage of people of the youngest age group over the oldest age
group?

(@) 300%

(b) 320%

(c) 200%

(d) 230%

47.

0 & 70 a¥ 1 Y & FoI bl T &7 §7

What is the total number of healthy people from age 0 to 70 years?
(a) 7000

(b) 8000

c) 1800

d) 8100

48.

(
(
fohet QF AT MY F9if H AN 1 FEAT HT HR Halfedh g7
(a) 50 - 60 3 60 - 70
(b) 10 - 20 3T 60 - 70
(c) 0 - 10 3T 60 - 70
(d)0 - 10 3R 10 - 20
Find the two consecutive age groups having maximum difference of number of
people.
(a) 50 - 60 & 60 - 70
(b) 10 - 20 & 60 - 70
(c) 0-10& 60 - 70
(d)0-10&10-20

49.

10 - 20 3iR 50 - 60 3 a1 H TTEY ol AT Fel FET fohelell 872

What is the total number of healthy people in the age groups 10 - 20 and 50 - 60?
(a) 4000

(b) 2400

(c) 2600

(d) 2000

50.

forder 3 WeEt # 1100 & e waey @ §?

How many age groups have more than 1100 healthy people?
(a) 4

(b) 2

() 3

(d) 5




